
ASSEMBLY INSTRUCTIONS 
Little Giant Service Cart 

Rev 1 - 7/30/2013 

Manufactured by Brennan Equipment and Mfg, Inc  730 Central Ave University Park, IL 60484 



HARDWARE KIT 
Check that your hardware kit includes all of the following pieces: 

Rev 1 - 7/30/2013 



Bolt Handle (A) to Frame Using 4 of each: 5/16-18 x 2” Bolts (D), 5/16 Washers (E), 5/16-18 
Nylon Lock Nuts (F).  

STEP 1 

Rev 1 - 7/30/2013 



Lay Service Cart on Side to Continue Assembly.  Bolt Rigid Casters (B) to Bottom of Cart Using  
¼-20 x ¾” Bolts (G), ¼ Washers (H), and ¼-20 Nylon Lock Nuts (K).  Repeat for Both Rigid Casters. 
Note: Rigid Casters are to be Installed Opposite the Handle Side. 

STEP 2 

Rev 1 - 7/30/2013 



STEP 3 

Rev 1 - 7/30/2013 

With Service Cart Still on Side, Continue Assembly.  Bolt Swivel Casters (C) to Bottom of Cart Using 
¼-20 x ¾” Bolts (G), ¼ Washers (H), and ¼-20 Nylon Lock Nuts (K).  Repeat for Both Swivel Casters. 
Note: Swivel Casters are to be Installed on the Handle Side. 



Assembly Detail Views 

Rev 1 - 7/30/2013 



Assembly Detail Views 

Rev 1 - 7/30/2013 



Final Assembled Unit 


	Slide Number 1
	HARDWARE KIT�Check that your hardware kit includes all of the following pieces:
	Bolt Handle (A) to Frame Using 4 of each: 5/16-18 x 2” Bolts (D), 5/16 Washers (E), 5/16-18 Nylon Lock Nuts (F). 
	Lay Service Cart on Side to Continue Assembly.  Bolt Rigid Casters (B) to Bottom of Cart Using �¼-20 x ¾” Bolts (G), ¼ Washers (H), and ¼-20 Nylon Lock Nuts (K).  Repeat for Both Rigid Casters.�Note: Rigid Casters are to be Installed Opposite the Handle Side.
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8

